Maths Homework
Handed out: Thursday 18th September 2025
Due in: Tuesday 23rd September 2025
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7) Can you spot the mistake? What should Rory have done differently?

The part-whole
models show
two ways of

partitioning 46.
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8) Is this statement true or false? Explain why.

I have found two
different ways to
partition the same
2-digit number. m @ G m

9) Do you agree? Explain why.

20 + 41 is the same as 50 + 11. ]
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Complete the sentence and find three ways of partitioning each 2-digit number.

1) 37 has D tens and D ones.
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